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Shift of in radius R' and length s
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(D) L¥6R2

The numbey of yehicles using the road per hour during pe ak‘ periods and the average of severa]

peak day is caljed _————— ‘

() Traffic density o \
(B) Traffic rate \_
(C) Traffic volume
(D) Traffic concentration \
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Which of the following is natural construction material?
(A) Tiles
Lime )
(C) Bricks
(D) Admixtures

A 100m tape is held 1m out of line. The true length is
(A) 100.0050m

(B)99.9950m

(C) 100.0100m

(D) 99.9800m

The internal angle of regular pentagonis ______ degree.
(A) 72

B) 108
(C) 120

(D) 150
correct antonym for "generous"?
Choose the (B) Stingy

Kind
E'é; C]Zaritable - , (D) Benevolent

{ 211 (United Nations) MO (General Assembly) M #Rellel Q youn 2jgey
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ZE3AAEC06-B

10  Manholes are generally located _
(A) At all junctions of different sewers
(B) At all changes of gradient of sewer
| (C) At all changes of direction of sewer
\ ‘ (D) Al of the above
11 To measure very low pressure, which instrument 15 genera")’ used?
‘ (A) Manometer
1 ; (B) Barometer
$ l i ~ - (C) Piczometer
[ (D) Psychometer

12 The unit of measurement of brick partition wallis -

(A) per m length

~(B)sq.m
(C)Cu.m
(D) numbers

13 20%3u e%ﬁq@lf@%é AR Y282 AR UM L2l of AI?
(A) URR Aol (B) U G
(€ WUASA A @) AGeol ctesl

14 Which of the following is a dummy activity?
(A) Curing
(B) Excavation
(C) Laying of concrete
(D) Waiting for material

15 ui QAN sdaAl % vl Sl A UESIR §2 2
() GuHL a (B) QAo
(C) wx2ict g (D) WeAl5

% 16  Find the synonym for "Ubiquitous":
'.\\ ) . ‘ ) Rare “(-B){Jncommon
)9? (C) Omnipresent (D) Absent ® LSO

b 17 The WCB of a line is 320°, its QB is R - SO
& (AIN40°W
» (B)N40"E
(C)W40°N

{ - |  D)E4°N | ‘ \®
{ . 18 HIML Wed §? |

(A) SlatuR2 sz HEAU AoO1AY B) 8lAU2RE 1ot Avordop
(C) 32582 AsetU A21A¥ (D) S5 NEUU Ago(Qog

adoa, Lt el

19 Inhouse drainage the minimum gradient kept is
1 ' \\\_’o
(A) 1in 40
(B) 1in 100
(© 1in 200
(D) 1in 400
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(A) o{b"l _ (B) gla
(C) Ml @) QA

Inclined letters are written at an angle of the base line.
(A) 60°

(B) 30°

(©)75°

(D) 120°

ADottigll 565 Asosdl ¥R LAY, Aol WR B A 2ore s2cl W2 Rellos?,
adousR s, ua dserell Reucetiall GuaoL 52 B?

(A) CD-ROM ‘ (B) CD-RW
(C)DVD - (D) Hard Disk

Pick out the incorrect statement.

(A) Portland blast stag cement results in a higher creep.

(B) Creep decreases with increase in the size of the specimen.
(C) Creep increases with increase in water / cement ratio

(D) Light weight aggregate undergoes lower creep.

Based on heat released upon hydration, arrange the following four compounds of the cement
in descending order.

.CsS 3.C/AF 4.CS

Which type of odour characteristic is NOT used for classifying odour of a given water sample
as per IS 3025 (Part-5) 1983 ?

(A) Degree of turbidity
(B) Degree of sweetness
(C) Degree of pungency
(D) Degree of smokiness
agtctl JAVA) AR st secuell aidel e ARAA__ @ud,
(A) java (B) obe
© class D) ex¢
alele] 83 atrd Bt au? Qell ay golet (R uAA B ?
A eIyt (B) B8
© R @) 1B
Qzoné layel is situated in which layer of atmosphere?
MesosPhe
(B) ennOSPhe
po
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ZE3AAEC06-B

29 The volume of 1 bagofcementis _—
(A) 0025’
(B)0. 035m’
(C) 0.045m’
(D) 0.055m°

30 The growth of population can be represented by  ———
(A) Semi-log curve
@Logarithmic curve
(C) Logistic curve
(D) Straight line curve

31 UTP qi \.LQL AU 8. Uwn donn "7‘2-”\&&01. Q)@ Cisen

@A) wA@As 2R W - (B) YRR gleugR YRR
(©) otsad 2clRs W (D) Aotyos ecles W

32 What will be the Sludge Volume Index (SVI) (ml/gram) if )Ole Aof Sludge collected in 30

mins on drying weighs 800 mg?
(A) 125
®)8
C) 0.008
1D)0.125
33  The direction of closing error is given by
(A)tan®=ZD/ZL
(B) tan 6 =ZL/ZD
(C)tan 6 =ZXD x ZL.
(D)sin6=ZD/ZL

34 ;ozztu Qani Aell ay viar uewI[ (el olte sctl) Wl Ay Rs1y 50412 tat O
92

(A) ®llRdl : (B) Yot .
(©) B (D) UNRsL (USA)
& oy Sl 1ol A (Blatell Guzel YQhei? 6:5
&cll. AR ey utﬂ an
"’J'Jrl? 11 10 ug} Qgctl%crﬂ ucauaa,ﬂ Gu)e yecl éﬂ? qﬂ sl
(A) 16 | (B) 12
(© 10 AN M @) 18 ¢
36 Which of g i "
e ]Cc; : :d iﬁ:ti‘(;nowmg 1nstmment§)s used for measurement of angle?
(B) Tellurometer
(C) Sextant

(D ) Te’eSC()pe
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of a project, crashing is done

37  Intime-cog oot
t optimization i
OptimiZ he original critical path and haVing flatter cost slopes

| (B) Only o the activities

| (C) On origingy ritical act
order of ascending cost slopes
(D) On all actiyies lying critical Path

ivities and those that become Chitica] at any SAE° of crashing in the

38  The main principle of surveying is to workfrom_______ |

(A) The centre to the boundary
(B) The whole to the part
(C) The part to the whole
(D) Higher to lower level

39 et RAreloll ol B et 5 B ?
(A) LAN, 1es1
(©) 1}, 1¢50

B) 1AM, 1650
(D) LA, 16UR

l ) i
40 Two samples of water A and B have pH values of 4.4 and 6.4 respectively. How many times

‘ is sample A more acidic than sample B? A '
(A) 50

B)0
(C) 100

(D) 150
41 <4\sl Aoeall uHeldl 2oe s B

@EM (B) Yut

(C) M (D) Gl

42 oAt Ul 58 2150 el US & 2

1 2]|[2 1][2 3][3 4
4 _3(|3 4|1 a2 1

1 2 2
" o 1 Cz 3 Da 4
4 3 3 4 1 4| ™2 1

43 Al 56 Aectb Aoy B, Rui Yol 21Aet ALs R 51 5 0Lkt 48 a2, QY gy
51222 -A2A U 53] ol g el ?

(A) U ® L
(©€) RIR (D) A
4 Yogoll ABR ”l_ MR et yudel YRgtss otiet DY HUeticto? oy oo Yoy
el 53 87 |
(A) alogeellet (B) oJos=lel

(Qu@lelbi (D) 518
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ZE3AAEC06-B
~ Design period of Water supply projects et
(A) 10 years
(B) 30 years
(C) 40 years
(D) 50 years

Sinking fund is . . IR
") The fund for rebuilding a structure when its economic life 15 over
XB) Raised to meet maintenance cost { authorities ,

C) Thtotal st ¥ b pakd i t0 IEEWON :il;g additional structures and modifications

(D) A part of money kept in reserve for provi

In the CBR test, for 5.0 mm penetration standard load is

(A)20.16 kKN
(B) 7.5kN

(C) 10.08 KN
(D) 13.44 kKN

As per IRC, Super elevation (e) should not exceed
(A)6.7% :
B)5.7%

(©)4.7%

D)7.0%

0.3m head of oil (Sp.gr. 0.8) is equal to .
(A) 0.3m head of water

(B) 0.24m head of water

(C) 1.3m head of water

(D) 10.34m head of water

A test used to measure the strength of waste water called
(A)pH

(B)BOD :

(C) Surface setting rate
@_Détfﬁﬁon period

Site order book is used for recording
(A) Issue of store equipment
(B) Instructions by executive engineers

(C) Construction measurements
(D) Names of casual labour

In Autocade, scrolling of mouse can perform which of the following action?
(A) zoom in/zoom out

(B) pan & scan

(C) extents/all

(D) scale

D s e e SR

PERT technique of network analysis is mainly usefu] fo,
(B) Research and development projects

(C) Large and complex projects

(D) Determiistic activities
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LA b KNI €y et g

-
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: %.
» >4 By means of oxidation pond reduces BO.D. ____ % and coliform —
(A) 80,90
(B) 90,99
(C)95, 99
D
(D) 90, 100 i 26 2
55 Windows M, Control Panel ¥l ALAEU [@Qseu a
UL Bzjezaiell Uninstall 58 28R G2 P
e Programs
(A) Device Manager (B) ams
(C) System and Security (D) Default Progr e doﬂ
i L ke 8l A
. 56 Windows Ml s s2cll AV, B Bleger A restart 529 &2, Al sl key
\ GuL 5A AU ?
' 1+ Ctrl
(A) Esc + Ctrl (B) De
\ (C) Alt + Del | (D) Cirl + Alt + Del
57  Crushing strength of good building stone should not be [ess than
(A) 100 MPa :
(B) 120 MPa
(C) 150 MPa
(D)S0MPa |
58 ¢ ool i Aell3ala, §5%eta\ 5l 53l execution UL §2
o ]. ,
| Q start () (B) main ()
C) begin () (D) trigger ()
|
| 59 el yel s,
; E\ - 2 < I
l I PR AR ERER)
I 1] ?
ER ,
Al 11T s Cli ik e RN
! RER
60 (EAx)p g:;:;on Joigts are generally provided in concrete road at RN 11,
@) 5m
(C) 50m
(D) None

61  Choose the Ot degree of comparison for the sentence: Out of all Students, Lisa is the

@ Bdéhmt (B) More bright
Q) Bright® | (D) As bright 2

’ ffoll(}Wing Setences i« :
62  Which© osalette | CS 1S in the past tense? o wrote 8 leter

(é)) She Wlll write a letter. (D) She is writing @ letter.



63 adwdand dsya A3 dlcaiisotHl dlect8et

(A) &5 5ol
(©) Aot sl gl
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(B) =3 (1 ELUCK
(D) AR 3%

What is synonym for brave? o Fearful
(A) Cowardly o shy

(C) Courageous
nd (in cubic meter) respectively required

nt (in kg) and of dry s2 portion?

' tity of ceme .
What is the quantity  wet cement mortar of 1:5 pro

for preparing 1 cubic meter 0
(A) 270 and 1.00

(B) 290 and 1.04

(C) 290 and 1.00

(D) 312 and 1.04

oxygen.

As compared to fresh river water, sea water contains

(A) 10 % less
(B) 10 % more
(C) 20 % less
(D) 20 % more -

What is the lowest waste water flow in hospitals?

(A) 40 Iped

(B) 900 Iped
(C) 700 Ipcd
(D) 50 gpcd

The most fire resistance paints are
(A) Asbestos Paints

(B) Aluminium Paints

(C) Cement Paints

(D) Enamel Paints

The Stretcher bond is generally used for
(A) Simple Brick work

(B) Half Brick work

(C) Arches :

(D) One and half Brick Wall

B.O.D. Testing takes time for
(A) 3 hours

(B) 5 hours

(C) 3 days

(D)5 days

1'm’ of mild steel weighs about
(A) 3800 kg
(B) 1000 kg
(C)7850 g
(D) 12560 kg

N e N e Al e, T IR T B
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72

Ductil; ) , )
(A) olclty of bitymen is expressed in __
(B)kg/°C

(Q)mm

(D) kg

73 The input devices in CAD can be divided into
(A) 3 categories
\ (B) 2 categories
(C) 5 categories
(D) 4 categories

74  Which characteristics of water is not suitable for appearance?

(A) Alkalinity
(Lg))- %ul%}‘!gfe | ¢ A6t k _so
urbidity _ — = ~
(D) Hardness "+ b e +4¢ ¢ —o—
_ e S R
75  For a given activity, the optimistic time, pessimistic time and the most probable time
estimates are 6, 18, 9 days respectively. The expected timeis __ -
(A) 8 days ‘
"W (B) 9 days
. ’ (C) 10 days
, : (D) 15 days

1 76 According to Pascal's law, pressure at any point in a liquid is
“ (A) Same in vertical direction
3 . (B) Same in horizontal direction
(C) Same in all direction
J (D) Different in different direction

77  The use of dividers in compass boxes is to
A) Draw a circle
(B) Draw a straight line
(C) Draw an arc
(D) Delineate a line and move a measurement

78  The length of a wall in the long and short wall method of estimation is centre ¢, centre
i - distance between the walls and '

| ~ (A) Half of its width on each side

' (B) One-fourth width of wall on each side

i © One-third width of wall on each side
| (D) Width o the wal
' { o6 W AERHE
79 ol Ll 2oL (G- A AL o Bt AL e o .y
(A)-nsbeaﬂs (D) Cadd¥
(C)Nett
. dent of
hoice of mix proportions of a concret® js indepe™ —
The chO™”"  size of aggregate . -
: 0 (A) M a‘ﬁgnmixing, placing, compactio? techniq¥
; (B) b8y WIC rato
© Ig e jesignation
g (D)
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A curve of having varying radius introduced between two branches of 5 compound curve is
called

(A) Transition curve

(B) Mean average curve

(C) Base curve

(D) Common curve

The rainfall cycle period in India is takenas _____ -
(A) 35 years

(B) 30 years

(C) 25 years

(D) 10 years

The width of rectangular sewer is twice its depth while discharging 1.5m/sec. The width of the
seweris . "

(A) 0.68 m

(B) 0.88 m

(€)136m

(D) 1.76 m

A circle will appear in an isometric drawing as
(A) a cycloid

(B) an ellipse
(C) a triangle

(D) a parabola

 CURclell 3ol 6l (RBI ) olt Mot dlctolz Bt &
(A) AlEASA E1 (B) Gl¥ L w2t
(C) RYRAH RA%el : (D) Fulat AlcdiRet

The entrained air in concrete
(A) increases strength

(B) decreases strength

(C) increases workability
(D) decreases workability

Which of the following Pencils is used to draw a soft line?
(A)2B

(B)IB

(C)HB

D H

The permeability of cement paste is mainly due to R
(A) Capillary pores

(B) Gel pores i

(C) Finer cement grains

(DYAIl of the above

QuRyl geof iR el
(A) ¥y oy 2 @M
(C) oR & of 2 I

_@El”«"t (] B
DI H et o o g oy
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90 4 the design

For circylay curve of radius 190ni, the coefficient of lateral friction is 0.158°

Speed is 40 kmph, The equilibrium superelevation wouldbe ___—
g\t;er;essu;e is equal on inner and outer wheel]

(B)6.3
C)7
(D)21.3

. ?
91  In conventional activated sludge process, MLSS is generally kept in which range

(A).< 100 mg/l

(B) 1500 - 3000 mg/
(C) 1000 - 2000 mg/!
(D) 3000 - 5000 mg/

92 qRcloll S Getlz Mol gl g uR Wl sl wue] ?

(A) Asdllat -2 (B) HolGtRlel
(C) Astet -1 (D) s12Ae-3

93 sl gssiulell et wugA olotcll AsA ?
°
AleO 2|lO ¢—0Oe o|l @o

04  oflAotadiell Y YoH 5Y B ?
(A) datcius RANG - SRR, 61§, 61y
(B) vaulclias QAR - udg, Asay, a$
(©) edlscuas QAN - U, 2, A
(@) ysas QAN - 34, 54, 9

95 In specification of earthwork in foundation lift and lead specified are, respectively
(A) 1m, 20m
(B) 1.5m, 20m
{C) 1.5m, 30m
(D) 1m, 25m

96  ollRotniell WE Rt aual
xa) (EoraRt URMRLA wel ugt yucua B.
() Qadl BANE sel-sal yoget @oeiuet av.
n\(Q)GJ%’?lrﬂHi AQ @1 B,
~pyag st A5AUAN] B,

. pallast, the stone should be /
g7  For ;Ialaﬁaiense, durable, tough and easily workable
(A) ard, peavys StTong and durable
(B) Har% -+ uniform texture
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98 IS code for mode of measurement is .
A)IS: 456-1978 o

(B)1S: 1200-1974
(C)1S: 875
(D) IS: 269-1976

99  Which of the below joints is used for masonary in arches?

(A) Table
(B) Rebated
(C) Dowel

(D) Butt

100 If the slump of concrete mix is 60 mm, its workability is

(A)Low

(B) Very low
(C) High

(D) Medium

ake ok e sk sk e sk ofe o ofe ok 2k



